#%% correlations stations and raters

abdominal | abdominal pain_rater
pain_st | 2101 2111 2112 2113 2114 2115 2117 2118 2119 | Total
___________ N s e S e
scen 1 7 5 6 5 7 5 5 57 = H H H
} s 1 5.3 g 2 5.3 g2 4.3 53 | 555 Zur Bewertung der Unabhéangigkeit wurde Chi2 -Test oder
___________ e e R R N e e e e H ¢
e > & z = z 2 5 3 25 Fisher's Exact Test berechnet.
| 6.6 5.0 6.6 5.0 6.6 4.6 5.0 | 56.0
___________ A, B Sl L e s A e s e e B e e e L B e B e T e S e e | e o L
scen = | 5 5 7 5 6 5 Z 56
| 6.6 5.0 6.6 5.0 6.6 4.6 5.0 | 56.0
___________ M S e e BN S BN TR e B e S e B e T e BN M TS
Total | 20 15 20 15 20 14 15 | 169
| 20.0 15.0 20.0 15.0 20.0 14.0 15.0 | 169.0
_st : station
scen : scenario
Pearson chi2(18) = 3.1429 Pr = 1.000
Fisher's exact = 1.000
tab cough_station cough_rater, chi2 exp exact
cough_st | cough_rater . tab fatigue_station fatigue_rater, chi2 exp exact
| 2102 2115 2116 212 Total
___________ s TR S S srrson s RS Smosrososon SRR B mosn s SO R mossnsonoe SR S romsommio s EUS S H s momsosonus SRR Sonlibesosmon RSN E S
scen 1] 1 5 1 11 57 fatigue_st | fatigue_rater
| 2.4 o X7 9.8 57.0 | 2104 2115 2116 2117 123 2224 2225 2226 | Total
——————————— e B e s sttt
scen 2| 2 5 2 11 58 scen 1 | 18 14 1 2 12 11 10
| 2.4 5.1 1.7 10.0 8.0 l 2.4 16.6 14.2 11.4 2.4 11.8 11.8 9.5 *I-
___________ R e e e e e e o e e e e e e e e e e e e e s i ST S S T T T A T e e S e
scen 3| 4 5 2 7 54 scen 4| 3 17 1 3 3 13 14 10 |
| 2.2 4.8 1.6 9.3 58,0 o | | oL N - N . S— 150 e L N oo N— - N w0a ... 890
----------- B e b Total | 5 35 3 24 5 25 25 20 |
Total | 7 15 5 29 169 | 5.0 35.0 30.0 24.0 5.0 25.0 25.0 20.0 | 169.0
| 7.0 15.0 5.0 29.0 169.0 s
Peqrson_ch12(7) = 0.6511 Pr = 0.999
pearson chi2(12) = 5.3352 Pr = 0.946 Fisher's exact = 0.999
Fisher's exact = 0.955
B 3 A . . tab back pain_station back pain_rater, chi2 exp exact
tab chestpain_station chestpain_rater, chi2 exp exact
back pain | back pain_rater
chest pain | chest pain_rater _st | 2114 2115 2116 2123 2401 2402 2403 | Total
_st | 2102 2103 2104 2115 Zcen I‘T “““““ P I ;T s . 89
___________ oot _____Sswwl SN __ D ___Semw ____Siompas
scen 1| 30 7 2 TR R i e : i A ==} i S = = A il T =
| 29.3 7.0 1.7 5.2 scen 2| 8 3 8 21 2 10 | 80
——————————— A | Fod 2.4 7.1 7o 23.2 23.7 - 80.0
scen 2| 27 7 2 ¥ < .5 W) .58 = =z===c====== A e R
| 27.8 6.6 B A 5.0 Total | 15 S 15 15 4 50 20 | 169
___________ B e e e e e s R e e e S S e Sy e ey e S e e ey ey S S S e e S S e | 15.0 5.0 15.0 15.0 49.0 50.0 20.0 | 169.0
scen 3| 27 6 1 5 3
Pearson chi2(6) = 1.5384 Pr = 0.957
___________ l______E?Lg________ﬁli________Elf________i_g_______________________ ecsesoses BRESNG Fisher's exact = 0.959
Total | 84 20 5 5
| 84.0 20.0 5.0 15.0

0.4974 Pr = 1.000
1.000

Pearson chi2(10)
Fisher's exact

_st : station

scen : scenario



